MAT136H1F — Quiz 3

TUTO0101 — M3 (TA: I. Angelopoulos)
Fall, 2014

FAMILY NAME: ..........cccciciinnanniainsianieiins
GIVEN NAME: ...co.coiennannaniiabnis
STUBENT 1ID: wiiviainniininiininetsbatasions

Mark your lecture and tutorial sections:

[ L0101 (morning) | L5101 (evening) | T0101 (M3) | T0102 (R4) | T5101 (T5) | T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!

Question 1. Consider the curve y = In(1 — 2?) for 0 < z < 1/2. Write the arc length L as an integral.
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Question 2. Ezpress the improper integral
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to its definition.

3 of b : ol
S U g Ay 3 i g ;;5;
| 27X b [ 27X stb

3
Question 3. Determine if / 3 dx is convergent or divergent and evaluate if possible.
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MAT136H1F — Quiz 3

TUTO0201 ~ R4 (TA: B. Navarro Lameda)
Fall, 2014

FAMILY NAME: ........cooeieenreniesnnsunssanesnnens
GIVEN NAMBE: ..........ccoeecnessanssuessisrstasaaises
STUDBNT TD: ......c.coomesianniiiisinss i tineicea.

Mark your lecture and tutorial sections:
[ L0101 (morning) | L5101 (evening) [ T0101 (M3) [ T0102 (R4) | T5101 (T5) [ T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!

Question 1. Consider the curve y = 22%/2 for 0 < x < 1. Write the arc length L as an integral.
& C
\3'(x§= 53 o %'(x) -
\ |
P =SO\| I+ y'(x)® dx = So\j \+ ax dx

Question 2. Calculate the arc length L from Question 1.
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to its definition. (You do not have to evaluate the integral.)

o an asywp’ro*e of x=0 and X=1. let x=1 be Poiﬂ* i loehween.
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Question 3. Ezpress the improper integral dz in terms of limits and definite integrals according

x\n(x

S 31 = Ll~70+ x In(x) b=\~ % 1\vx(i)



MAT136H1F — Quiz 3

TUT5101 ~ T5 (TA: A. Stewart)

Fall, 2014

FAMILY NAME: .......cccocivervrnrnisncsncessenssenes
GIVEN NAME: ........ccc.ciosiirs e s
SPUBBNT ID: .......ccciccreivsivionssbisetanassssaiises

Mark your lecture and tutorial sections:

[ L0101 (morning) [ L5101 (evening) [ T0101 (M3) [ T0102 (R4) [ T5101 (T5) | T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!
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Question 1. Find a curve y = f(x) such that the integral / V2 — 2z + x2dz is the arc length of the curve
4

over some interval.
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Question 2. Ezpress the improper integral / e—rdr in terms of limits and definite integrals according to
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its definition.

b

)

def

£ L dr

r

lim
b0

j erdr

Question 3. Determine if / 6j'—rdr is convergent or divergent and evaluate if possible.
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MAT136H1F — Quiz 3

TUT5201 - R5 (TA: B. Navarro Lameda)
Fall, 2014

FAMILY NAME: ....ccccovviiiiiiiiiiieccieeeeee
GIVEN NAME: .....cccooviiiiiiiricinncienccneee
STUDENT ID: ...coocirvriiiniinnieicneicneeennnnenns

Mark your lecture and tutorial sections:

[L0101 (morning) | L5101 (evening) [ T0101 (M3) [ T0102 (R4) | T5101 (T5) | T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!
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Question 1. Find a curve y = f(x) such that the integral / \/1 + L __dz is the arc length of the
x4 +222 +1

curve over some interval.
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Question 2. Ezpress the improper integral / tan(s)ds in terms of limits and definite integrals according

to its definition.
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Question 3. Determine if / tan(s)ds is convergent or divergent and evaluate if possible.
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